SET -2

Series : ONS/1 T 64/1/2

Code No.
[ . W Te TSR 1 S
Roll No. W S e T |

Candidates must write the Code on
the title page of the answer-book.

o PUASIE H W 1o 3T UHA-IT H G5 YIS 8 & AT 2 I8 Ao b & |

o UTA-UF T I BT H 3R KT T g TR il 1 SH-RAH & JE&-IL W 1@ |

o TS F G [ T UA-TTH 22 AT |

o HUAT YUY T IR feTa T I XA W UEet, U9 BT HHih Hayd fored |

o U RA-TA W UgH & o0 15 e 1 9 KA T § | SRA-0F o foeor qaed 7 10.15 &9
foFam ST 1 10.15 &1 & 10.30 S T B hael US-TF H UG 3R T4 7@ &k IR o
ITR-GETH T T I el fora |

e Please check that this question paper contains 8 printed pages and 2 pages of maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

WA (HFTTH)
GEOGRAPHY (Theory)
Freiie T - 3 v HfETH F 70

Time allowed : 3 hours Maximum Marks : 70

[T g
(i) meA B GET22 8|
(i) @ T AT E |
(iii) T T¥ & G 39 3 FIT TTE |
(iv) 797 G 1 G 7 d% 3T Tg-3RIT J97 b 375 & & | Jedah 79 1 7740 J15T G
31fére 81 &1 FET |
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v)

i)

(vii)

v G 8 T 13 TF Tg-3RIT Jv7 & | Jedah 797 3 37k F & | 9H T U g SR
TIT & | g% §9T BT 3T 80 T 100 ST 7 3w T8l g =new |

97 G 14 T 20 7% 5 FWIT 597 & | Fedh 597 F 5 b & | 97 T Hedh 5eT @
I 150 =51 G 37fer 81 &7 TR |

v G 21 F 22 HEAT T 99T 5-5 3 3 & S HEVl: 53 1 qrEtaT w7 qimirs
SO T EEH, R @ i T T & GET &

(viii) TG 3R YR & [T T IGL-THfAT 31 3797 IT-GRAFT & & 7 37593 e HoT |

(ix)

G- Al a7 & forg @i srerar @fier & 73T # srgafd &1 s &

General Instructions :

(i)  There are 22 questions in all.

(ii)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(v)  Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(vi)  Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question numbers 21-22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(viii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

AT % FH3 90 A foiT A Ferai o vet § i urr A € 2 Ueh HR0T AT | 1

Why is sex ratio in some European countries recorded favourable to females ? Give

one reason.

3R H YRA o T I T5F Fl AW @ | 1

Name the state of India with largest area.

T 9165 hl TR hifsTT | 1

Define the term ‘technopolies.’

AR B ST TOEE | “aq-[afma vonet 69 TR yeiad & 2 1

How is ‘Barter system’ practiced among various tribal communities in the world ?
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5. SOET 2011 % AR, IRA & FGd FH STHEE aTel SHEead YS9 fefaw | 1

Name the Union territory of India having lowest density of population as per 2011

census.

6. OIS THEI-TTT & IATd I HH HA % [T fohiad fohT T g wgl-ae 6 A et | 1

Name the major seaport which has been developed to relieve the pressure at Chennai

seaport.

7. “3E UH W G ST T e 3 HewdqUl U € 17 T8 e & g § e i | 1

“Leading a long and healthy life is an important aspect of human development.” Give

an argument to support the statement.

8. v feU U @ o eI HIT R IGF A U MU gt o SR fafEn

(8.1) 3T W@ H T T T T Sl Ted HIST 3R SHBT A A@T |
(8.2) 3H T &1 % W foAfET ST 39 T & {oTT HIFeT 3R FAI-Ue U Y & |
(8.3) W TAF & feTq STeT SMMUFT o HI BT Sooid i | 3x1=3
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Study the following diagram and answer the questions that follow :

To Kolkata
250 Km
—

Panposh i #*
W %
River Subarnarekha

] Manganese b3l
% Steel Plant

@ Limestone

'f\: Iron Ore

| Coal

memee Railway

A
L N
o Sulaipat

(8.1) Identify and name the steel plant shown in this diagram.

(8.2) Name the mining fields which supply coal and limestone to this plant.

(8.3) Mention the source of water for this plant.

e ; FETaRad v Heet giteattad uteniert o fofe oo T 8 & TH W E

(8.1) IREUS T H feerd I Tehidhd gQiTd |a=1 o A fefEu |

(8.2) TiE-TETd ST H W foh=el 31 edl HIel & 1 fef@u |

(8.3) ©iiE R TET ST T SMURYA ST & T H FT ST ST & 2

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 8.

(8.1) Name the two integrated steel plants located in the state of Jharkhand.

(8.2) Name any two raw materials used in the iron and steel industry.

(8.3) Why is iron and steel industry known as basic industry ?

9. o T T 3G HT I HIT Y SHF A [T 7T 99 o SR A 3x1=3

(9.1) TTHIOT ST UfAET St TEEIT 3R SHHT AW AT |

(9.2) &9 TH TR & St Ufaey i fhH TR o &5 H U € 9

(9.3) TH UHR F I UAET Pt T Hewaqu] o farey |
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Study the diagram given below and answer the questions that follow.

Rural Settlement Pattern
(9.1) Identify and name the pattern of rural settlement.
(9.2) In which type of areas do we find such settlement patterns ?
(9.3) Give an important characteristic of this type of settlement pattern.
e ; FTaRad e et giteattad ateniert o fofe oo T 9 & TH W E
(9.1) “HFE T I BT URANG BT |
(9.2) ¥ed afkar g9 fohe TR o & § U § 2
(9.3) ¥ed af&Tal i s Hewaqol foemdr ffam |
Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 9 :
(9.1) Define the term ‘human settlement’.
(9.2) In which type of areas do we find compact settlements ?

(9.3) Give an important characteristic of compact settlements.

10. “AHa-STiq @i fafqy seeaesdiel & @ FRE SuRte & 99 & €9 § 3fad &1 §
TR AT FMET 1”37 Tedl i SRAT HINIT S AR STARTE T FAET & T H T80
H e & e ¢ | 3
“The urban waste should be properly treated as a resource for various needs of
mankind.” Explain the values that can help in changing the urban waste into resources.

11. 9RA 9 $ & folg {E=re st gear T Sy | 3x1=3

Explain the importance of irrigation for agriculture in India.

12.  “Uepid 3R T 0H § a1 Aol § SIS §U & o 376 Uh-gaY § 3TeT el [hal ST Fehe]
T 1" S W AHIOR H | 3

“The nature and human beings are so intricately intertwined that they can’t be
separated.” Substantiate the statement.
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13, “9Rd # 3MYFsH TR # & & Th R S 9 | foshtad g & 17 39 FH&F Hl qHIo
FHIT | 3

“Many of the modern towns in India were developed during the period of British
domination.” Substantiate the statement.

14, WA H Heohi o [oe)] GHET 1 Fal © ? IS0l Higd same iy | 5x1=5

Why is the distribution of roads not uniform in India ? Explain with examples.

15. Tl e Rar wfquss faget & oo X §U, T $T 3R gMfesh T § =R
L HIT | 5

Differentiate between Co-operative farming and Collective farming; stating any five
points of distinctions.

16.  “@T 3T UM 1 UE Hewyul AsA A A e TeY €, S get AR ufvedt fave, 9 %
ToTT TR Wt G 1 19 el © 17 39 o9 o §aH | 37 JF1 T8 1 S Hewel T
HIT | 2% +2%=5
“The Suez and the Panama canals are two vital man-made navigation canals which serve

as gateways of commerce for both the eastern and western worlds.” In the light of this
statement explain the economic significance of these two canals.

17. 9RA § qou 3R &@ & Uarg & SR 3Te-3T60 91 €, T BT | Jard & JaeRons
GO} T oot T | 2+3=5

Explain why the causes of male and female migration are different in India. Find out the
environmental consequences of migration.

18,  ‘“SHIThehIT Tk | AT AU & 2 SHifhhT HehHU [Hga bl o TSRS 1 9o
HIAT | 2+3=5

What is ‘demographic cycle’ ? Describe three stages of ‘demographic transition
theory’.

19. < = SRR SR fa@fed S’ TR HT D TE THENE € 17 T THES & & F
ToIT 3UTr G Y 3! ST HiT | 2+3=5
“‘Low productivity’ and ‘Fragmentation of land holdings’ are the major problems of

Indian agriculture.” Suggest and explain measures to overcome these problems.
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20.

21.

YIS BT T 3 € 2 GOR H {2l TR 0T MY o fo¥eivur Shifey | 1+4=5

What is ‘tourism’ ? Analyse any four tourist attractions in the world.

TR & U M0 ToHifdes {E-AAes § uie Smieiss ae0r A, B, C, D 3% E & g1 9070 Y

£ | T IV o A SF T STHBR D TETAA ¥ TEAC 3 IAF Wel A Ik Ahe @il

T Tgrefi W fafan Sx1=3§
(A) TR A G HH S-S dTell 391

(B) FTaTH! UR[ERYT TG &

(C) Ve HI-oxH

(D) TRIEE gaTE-uwH

(E) = et

Five Geographical features shown on the given political outline map of the World as A,

B, C, D and E. Identify these features with the help of the information given below and
write their correct names on the lines marked near them :

(A) The country with lowest density of population in Asia.
(B) Anarea of nomadic herding.

(C) A major sea port.

(D) An Internatinal airport

(E) A mega city

e ; FETaRad e Shaet giteaTtad aRtenierat & fofe o 9@ 21 & ©H W E
(21.1) TR H GaE Y SHEE a6t 337 61 919 @y |
(21.2) 3TRIT § FTETEl US[ERYT 3 Hewaqul &5 1 1 [\ |
(21.3) IR 7N & FRE UH TS FHRI-OTH 1 A fofEu |
(21.4) TSTeT o Tohdl Ueh STRISET S1-U T A1 feAf@m |
(21.5) IR % fHE U AT EET H1 A fAtEy |

Note : The following questions are for the Visually impaired candidates only in lieu of
Q. No. 21:

(21.1) Name the country with smallest population in Asia.
(21.2) Name an important area of normadic herding in Africa.
(21.3) Name any major seaport in North America.

(21.4) Name any one international airport of Brazil.

(21.5) Name any one mega city of Europe.
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22.

W b S8 T ST ST e 4 e e e e e S0
T forae 5x1 =5
(i) Haitys SH-8- arel TF (2011) |

(i) TH T UTHOT STHEE Tl T |

(iii) IR - ElE 3T G & |

(iv) FeH T H qeT e HREMT |

(V) WSY UIA {A-HUSH N [T |

Locate and label the following on the given poltical outline map of India with
appropriate symbols.

(1)  The state having the highest density of population (2011).
(i) The state with smallest rural population.

(i11)) Mayurbhanj — an iron ore mining area.

(iv) An oil refinery in Karnataka state.

(v) The headquarter of South Central Railway Zone.

Al ; F=TAtEd 79 SHeet gieattaa adenfemt & fofT e §@m 22 F @|H W E
(22.1) &R I gt ¥ TR I G FT T I A1 & ?

(22.2) TEE FHY WHT SHEET 9Tt T99 61 A1 AT |

(22.3) TR wile-3rah & fohg oo | ferd & 2

(22.4) HETE AT SMET HREMT {69 T59 § e ¢ 2

(22.5) WIS ot YA-HUSH & AT Sl A1 gy |

Note : The following questions are for the Visually impaired candidates only in lieu
of Q.No. 22 :

(22.1) Which is the largest state of India in respect of area ?
(22.2) Name the state having smallest rural population.

(22.3) In which state is Mayurbhanj iron ore mining area located ?
(22.4) In which state is Mangaluru oil refinery located ?

(22.5) Name the headquarter of South Central Railway Zone.
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I 9. 21 % forT e
Map for Q. No. 21
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